Roberto was playing a game that required spinning a spinner. On his first ten spins, he landed on four
different spaces. He landed on:

Lose a Turn one time

Move Forward One Space four times
Move Forward Two Spaces three times
Move Back One Space two times

1. Based on this data, what is the probability that Roberto will spin Move Forward Two Spaces on
his next spin? Why?

2. Based on this data, what is the probability he will NOT land on Move Back One Space on his
next spin? Why?

3. Based on this data, what do you think this spinner looks like? Explain your thinking with words.
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